4= E5F 2RBERE B 2

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

1 NS: #7% WH¥RiEEI0) 1 5 NS: FR<FR B2/ (BAC) -14 VP:| 13.14 : 6.86 Total VP: 50.89 Rank:
EW: $8{—5¢ MEEEAC) 16 EW: &Iill35 BRiEE:R(FO0) -1 IMP:| 34 : 25 3
N I
#1 aT76 2HN4 170 Mean: 4HN5 450 80 4 |[|#2 & AK76 2NN-1 -100 Mean: 3NS4 630 10.0 1
v AJ9642 3HS-2-100 130  4HN4 420 70 1 v J863 2NS2120 190  3NS3 600 9.0 3
Q72 Dif: 270 NS:1  3HN5 200 20 1 T Dif: -220 NS:-7 3NN3 600 9.0 2
a8 IMP: 7 EW:6 2HN5 200 20 1 » A843 IMP: -6 EW:2 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1||eJ5 ¢ Q7643 2NN-1 100 70 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 4150 70 1 ||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 -550 -12.0 1 S 3 ~3~2 o+ AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W ~~~~~
#3 » 95 2HW-2 200 Mean: 2HW-2 200 50 1|[|#4 » 965 5DE-2200 Mean: 4HXS4 790 120 1
v AK75 2SE3-140 20  3DS3 110 30 2 v J8653 4DE-2200 150  5DE-2 200 20 1
o KT42 Dif: 340 NS:5 3CS3 110 30 1 * QT42 Dif: 0 NS:2 5CW-2 200 20 1
» T62 IMP: 8 EW:4 2DS3 110 30 1 a K IMP: 0 EW:-2 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100 3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 3NWS5 -460 Mean: 3NW-2 100 100 2 ||#6 » 98742 3DE4 -130 Mean: 5DE-2 200 6.0 4
v 8765 3NW4 -430 -350 5DW5 400 20 2 v A92 5DE-2200 -60  5DE-1 100 40 2
* Q74 Dif: -30 NS:-3 3NwW4 430 20 4 + Q98 Dif: -330 NS:-2 3HXS-1 -100 -1.0 1
» QJ8 IMP: -1 EW:2 3NW3 400 20 1 » 62 IMP: -8 EW:-6 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 & K4 & AQ953
P¢VEN L, KJI763 PIVEN L, KIT
N ~~~~~ T2 N ~~11~ v KJ853
S ~~~~~ 485 S ~~11~ oK
E 566~5 &953 E 34~~2 aJT87
W566~5 W 34~~3
#7 # JT87 1SW1 -80 Mean: 3NN3 600 110 1 ||#38 & A732 3NS3 400 Mean: 4NS4 430 40 1
v K72 1SW-1100 80  2CXE-1 200 3.0 1 v 3DN5 150 270 3NS4 430 40 2
+ KJ95 Dif: -180 NS:-4 2NN2 120 1.0 1 + AKQ7652 Dif: 250 NS:4 3NS3 400 40 5
& AJ IMP: -5 EW:-1 1SW-1 100 1.0 2 » 85 IMP: 6 EW:3 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 * 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||& A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®IVEON L KI6
N ~11~2 ¢J94 N ~3~2~ ¢ KQJ43
S ~21~2 4QT4 S ~3~2~ 498
E 2~~~ ~ aK765 E 1~~~~ aJ73
W2~~-~~ Wi1~2~-~
#9 » AQ86 5CE6 -620 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3SN-3 -300 Mean: 3HW-1 100 60 3
v 876 6CE6 -1370 -990  3NW4 630 80 1 v KQ 2HW2 -110 -140  3HE-1 100 60 1
¢ T63 Dif: 750 NS:9 3NE4 630 80 3 ¢ KT4 Dif: -190 NS:-4 2HW2 410 1.0 1
& QJ7 IMP: 13 EW:9 6DW6 1370 9.0 1 » T654 IMP: -5 EW:-1 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEN L, T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ o4 S 13~1~ ¢ Q6532
E 66~~4 485 E ~~2~~ aKQ7
W 66~~4 W~~2~1




114 E5F 2 RHERF HL

Wo—

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

2 NS: =fa&% ZEEEI0) -6 7 NS: ZTE BREZ(BAC) 30 VP:| 2.00 18.00 | Total VP: 29.20 Rank:
EW: £25 % H#fER(EIC) -30 EW: ZjkF 2BiESN(F0) 6 IMP:| 3 34 1
N I
#1 aT76 2HS-1-50 Mean: 4HN5 450 80 4 |[|#2 & AK76 3NS3 600 Mean: 3NS4 630 10.0 1
v AJ9642 4HN5 450 130  4HN4 420 70 1 v J863 3NS4630 190  3NS3 600 9.0 3
Q72 Dif: -500 NS:-5 3HN5 200 20 1 T Dif: -30 NS:9 3NN3 600 9.0 2
a8 IMP: -11 EW:-8 2HN5 200 20 1 » A843 IMP: -1 EW:-10 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1||eJ5 ¢ Q7643 2NN-1 100 70 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 4150 70 1 ||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 -550 -12.0 1 S 3 ~3~2 o+ AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W ~~~~~
#3 » 95 2DN2 90 Mean: 2HW-2 200 50 1|[|#4 » 965 4CW-1100 Mean: 4HXS4 790 120 1
v AK75 3DS3110 20  3DS3 110 30 2 v J8653 4DE-2200 150  5DE-2 200 20 1
o KT42 Dif: -20 NS:2 3CS3 110 30 1 * QT42 Dif: 100 NS:-2 5CW-2 200 20 1
» T62 IMP: -1 EW:-3 2DS3 110 30 1 a K IMP: -3 EW:-2 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100 3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 3NW3 -400 Mean: 3NW-2 100 100 2 ||#6 » 98742 3DE4 -130 Mean: 5DE-2 200 6.0 4
v 8765 4HWS5 -450 -350 5DWS5 400 20 2 v A92 5DE-2200 -60  5DE-1 100 40 2
* Q74 Dif: 50 NS:-2 3NW4 430 20 4 + Q98 Dif: -330 NS:-2 3HXS-1 -100 -1.0 1
» QJ8 IMP: 2 EW:3 3NW3 400 20 1 » 62 IMP: -8 EW:-6 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 & K4 & AQ953
P¢VEN L, KJI763 PIVEN L, KIT
N ~~~~~ T2 N ~~11~ v KJ853
S ~~~~~ 485 S ~~11~ +K
E 566 ~5 &953 E 34~~2 aJT87
W 566~5 W 34~~3
#7 # JT87 1SW-1 100 Mean: 3NN3 600 110 1 ||#38 & A732 3NS4 430 Mean: 4NS4 430 40 1
v K72 2CXE-1200 80  2CXE-1 200 3.0 1 v 3NN3 400 270 3NS4 430 40 2
+ KJ95 Dif: 100 NS:1  2NN2 120 1.0 1 + AKQ7652 Dif: 30 NS:4 3NS3 400 40 5
& AJ IMP: -3 EW:-3 1SW-1 100 1.0 2 » 85 IMP: 1 EW:-4 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 * 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||s A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®IVEON L KI6
N ~11~2 ¢J964 N ~3~2~ ¢ KQJ43
S ~21~2 +QT4 S ~3~2~ 498
E 2~~~~ aK765 E1~~~~ aJ73
W2~~~-~ W1l~2~-~
#9 » AQ86 6DW6 -1370 Mean: 5CE6 620 9.0 3 ||#10 » AK76 2NN-2 -200 Mean: 3HW-1 100 60 3
v 876 6CE6 -1370 -990  3NW4 630 80 1 v KQ 3HE-1100 -140  3HE-1 100 60 1
¢ T63 Dif: 0 NS:-9 3NE4 630 80 3 ¢ KT4 Dif: -300 NS:-2 2HW2 410 1.0 1
& QJ7 IMP: 0 EW:9 6DW6 1370 9.0 1 » T654 IMP: -7 EW:-6 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEeN ,T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ 4J4 S 13~1~ ¢ Q6532
E 66~~4 485 E ~~2~~ aKQ7
W 66~~4 W~~2~1




114 E5F 2 RHERF HL

Wo—

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

3 NS: Fiigg RERGEO) -7 8 NS: BEE MERB(BAC) 17 VP:| 4.03 15.97 | Total VP: 44.86 Rank:
EW: 8B 18 ZEBEEIC) -17 EW: ##53H @R E(FH0) 7 IMP:{ 20 : 40 6
N I
#1 aT76 4HN4 420 Mean: 4HN5 450 80 4 |[|#2 & AK76 3NS-2 -200 Mean: 3NS4 630 10.0 1
v AJ9642 4HN5 450 130  4HN4 420 70 1 v J863 3NN3 600 190  3NS3 600 9.0 3
Q72 Dif: -30 NS:7  3HN5 200 20 1 T Dif: -800 NS:-9 3NN3 600 9.0 2
a8 IMP: -1 EW:-8 2HN5 200 20 1 » A843 IMP: -13 EW:-9 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1||eJ5 ¢ Q7643 2NN-1 100 7.0 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 450 70 1||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 550 120 1 [|S 3 ~ 3 ~ 2 o AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W~~~~~
#3 » 95 3NN-2 -100 Mean: 2HW-2 200 50 1|[|#4 » 965 4HXS-1 -200 Mean: 4HXS4 790 120 1
v AK75 3CS3110 20  3DS3 110 30 2 v J8653 4CW-1100 150 5DE-2 200 20 1
o KT42 Dif: -210 NS:-3 3CS3 110 30 1 * QT42 Dif: -300 NS:-8 5CW-2 200 20 1
» T62 IMP: -5 EW:-3 2DS3 110 30 1 a K IMP: -7 EW:2 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100 3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 3NW4 -430 Mean: 3NW-2 100 100 2 ||#6 » 98742 5DE-2 200 Mean: 5DE-2 200 6.0 4
v 8765 5DW5 -400 -350 5DW5 400 20 2 v A92 3HS-2-100 -60  5DE-1 100 40 2
* Q74 Dif: -30 NS:-2 3NwW4 430 20 4 + Q98 Dif: 300 NS:6 3HXS-1 -100 -1.0 1
» QJ8 IMP: -1 EW:2 3NW3 400 20 1 » 62 IMP: 7 EW:1 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 & K4 & AQ953
P¢VEN L, KJI763 PIVEN L, KIT
N ~~~~~¢T2 N ~~11~ v KJ853
S ~~~~~ 485 S ~~11~ oK
E 566~5 &953 E 34~~2 aJT87
W566~5 W 34~~3
#7 # JT87 1NN2 120 Mean: 3NN3 600 110 1 ||#38 & A732 3NS3 400 Mean: 4NS4 430 40 1
v K72 2NN2120 80  2CXE-1 200 3.0 1 v 3NS4430 270 3NS4 430 40 2
» KJ95 Dif: 0 NS:1 2NN2 120 10 1 + AKQ7652 Dif: -30 NS:4 3NS3 400 40 5
a AJ IMP: 0 EW:-1  1SW-1 100 1.0 2 » 85 IMP: -1 EW:-4 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 * 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||s A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®PIVEON LKIT6
N ~11~2 ¢J964 N ~3~2~ ¢ KQJ43
S ~21~2 +QT4 S ~3~2~ 498
E 2~~~~ aK765 E1~~~~ aJ73
W2~~~-~ W1l~2~-~
#9 » AQ86 6CE6 -1370 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3HW-1 100 Mean: 3HW-1 100 60 3
v 876 3NW4 -630 -990  3NW4 630 80 1 v KQ 3HXW3 -730 -140  3HE-1 100 60 1
¢ T63 Dif: -740 NS:-9 3NE4 630 80 3 » KT4 Dif: 830 NS:6 2HW2 410 1.0 1
& QJ7 IMP: -12 EW:-8 6DW6 1370 9.0 1 » T654 IMP: 13 EW:11  3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEeN ,T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ o4 S 13~1~ ¢ Q6532
E 66~~4 485 E ~~2~~ aKQ7
W 66~~4 W~~2~1




114 E5F 2 RHERF HL

Wo—

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

4 NS: fal 5 Z5EEH0) 6 9 NS: 532 FBIIF(BAC) 26 VP:| 4.95 15.05| Total VP: 19.29 Rank:
EW: J/51F EEHHEIC) -26 EW: BRI ZR#(FH0) -6 IMP:| 25 : 41 14
N I
#1 aT76 4HN-3 -150 Mean: 4HN5 450 80 4 |[|#2 & AK76 3NS-1-100 Mean: 3NS4 630 10.0 1
v AJ9642 4HN5 450 130  4HN4 420 70 1 v J863 3NS-2-200 190  3NS3 600 9.0 3
Q72 Dif: -600 NS:-7 3HN5 200 20 1 T Dif: 100 NS:-7 3NN3 600 9.0 2
a8 IMP: -12 EW:-8 2HN5 200 20 1 » A843 IMP: 3 EW:9 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1||eJ5 ¢ Q7643 2NN-1 100 70 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 4150 70 1 ||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 -550 -12.0 1 S 3 ~3~2 o+ AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W ~~~~~
#3 » 95 3CS-2-100 Mean: 2HW-2 200 50 1|[|#4 » 965 3SE-1 100 Mean: 4HXS4 790 120 1
v AK75 1NS2120 20  3DS3 110 30 2 v J8653 4DE-2200 150  5DE-2 200 20 1
o KT42 Dif: -220 NS:-3 3CS3 110 30 1 * QT42 Dif: 100 NS:-2 5CW-2 200 20 1
» T62 IMP: -6 EW:-3 2DS3 110 30 1 a K IMP: -3 EW:-2 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100 3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 3NWS5 -460 Mean: 3NW-2 100 100 2 ||#6 » 98742 5DE-1100 Mean: 5DE-2 200 6.0 4
v 8765 3NW-2 100 -350 5DW5 400 20 2 v A92 5DE-2200 -60  5DE-1 100 40 2
* Q74 Dif: -560 NS:-3 3NW4 430 20 4 + Q98 Dif: -100 NS:4 3HXS-1 -100 -1.0 1
» QJ8 IMP: -11 EW:-10 3NW3 400 20 1 » 62 IMP: -3 EW:-6 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 & K4 & AQ953
P¢VEN L, KJI763 PIVEN L, KIT
N ~~~~~ T2 N ~~11~ v KJ853
S ~~~~~ 485 S ~~11~ oK
E 566~5 &953 E 34~~2 aJT87
W566~5 W 34~~3
#7 # JT87 3NN3 600 Mean: 3NN3 600 110 1 ||#38 & A732 3NS3 400 Mean: 4NS4 430 40 1
v K72 1NN190 80  2CXE-1 200 3.0 1 v 4SN-2-100 270  3NS4 430 40 2
+ KJ95 Dif: 510 NS:11  2NN2 120 1.0 1 + AKQ7652 Dif: 500 NS:4 3NS3 400 40 5
a AJ IMP: 11 EW:0 1SW-1 100 1.0 2 » 85 IMP: 11 EW:9 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 * 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||s A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®IVEON L KI6
N ~11~2 ¢J964 N ~3~2~ ¢ KQJ43
S ~21~2 +QT4 S ~3~2~ 498
E 2~~~~ aK765 E1~~~~ aJ73
W2~~~-~ W1l~2~-~
#9 » AQ86 5CE6 -620 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3HW3 -140 Mean: 3HW-1 100 60 3
v 876 5CE6 -620 -990  3NW4 630 80 1 v KQ 3HW-1100 -140  3HE-1 100 60 1
¢ T63 Dif: 0 NS:9 3NE4 630 80 3 ¢ KT4 Dif: -240 NS:0 2HW2 410 1.0 1
& QJ7 IMP: 0 EW:-9 6DW6 1370 9.0 1 » T654 IMP: -6 EW:-6 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEeN ,T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ o4 S 13~1~ ¢ Q6532
E 66~~4 485 E ~~2~~ aKQ7
W 66~~4 W~~2~1




114 E5F 2 RHERF HL

Wo—

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

5 NS: BE5F B B EREIC) -16 1 NS: ¥5% HEsE(FHOo) 1 VP:| 6.86 13.14| Total VP: 32.66 Rank:
EW: 1505 B EHO) -1 EW: $E{_# MEFR(BAC) 16 IMP:| 25 : 34 10
N I
#1 aT76 2HN4 -170 Mean: 4HN5 450 80 4 |[|#2 & AK76 2NN-1 100 Mean: 3NS4 630 10.0 1
v AJ9642 3HS-2100 130  4HN4 420 70 1 v J863 2NS2 -120 190  3NS3 600 9.0 3
Q72 Dif: -270 NS:-6 3HN5 200 20 1 T Dif: 220 NS:-2 3NN3 600 9.0 2
a8 IMP: -7 EW:-1 2HN5 200 20 1 » A843 IMP: 6 EW:7 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1 ||eJ5 ¢ Q7643 2NN-1 100 70 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 450 70 1||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJ 5CXW5 550 120 1 [|S 3 ~ 3 ~ 2 o AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W~~~~~
#3 » 95 2HW-2 -200 Mean: 2HW-2 200 50 1|[|#4 » 965 5DE-2 -200 Mean: 4HXS4 790 120 1
v AK75 2SE3140 20  3DS3 110 30 2 v J8653 4DE-2 -200 150  5DE-2 200 20 1
o KT42 Dif: -340 NS:-4 3CS3 110 30 1 * QT42 Dif: 0 NS:2 5CW-2 200 20 1
» T62 IMP: -8 EW:-5 2DS3 110 30 1 a K IMP: 0 EW:-2 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100 3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 3NW5 460 Mean: 3NW-2 100 100 2 ||#6 » 98742 3DE4 130 Mean: 5DE-2 200 6.0 4
v 8765 3NW4 430 -350 5DW5 400 20 2 v A92 5DE-2 -200 -60  5DE-1 100 40 2
* Q74 Dif: 30 NS:-2 3NW4 430 20 4 + Q98 Dif: 330 NS:6 3HXS-1 -100 -1.0 1
» QJ8 IMP: 1 EW:3 3NW3 400 20 1 » 62 IMP: 8 EW:2 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 & K4 & AQ953
P¢VEN L, KJI763 PIVEN L, KIT
N ~~~~~ T2 N ~~11~ v KJ853
S ~~~~~ 485 S ~~11~ oK
E 566~5 &953 E 34~~2 aJT87
W566~5 W 34~~3
#7 # JT87 1SW1 80 Mean: 3NN3 600 110 1 ||#38 & A732 3NS3 -400 Mean: 4NS4 430 40 1
v K72 1SW-1-100 80  2CXE-1 200 3.0 1 v 3DN5-150 270  3NS4 430 40 2
+ KJ95 Dif: 180 NS:1  2NN2 120 1.0 1 + AKQ7652 Dif: -250 NS:-3 3NS3 400 40 5
& AJ IMP: 5 EW:4 1SW-1 100 1.0 2 » 85 IMP: -6 EW:-4 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 * 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||& A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®IVEON L KI6
N ~11~2 ¢J94 N ~3~2~ ¢ KQJ43
S ~21~2 4QT4 S ~3~2~ 498
E 2~~~ ~ aK765 E1~~~~ alJ73
W2~~-~~ Wi1~2~-~
#9 » AQ86 5CE6 620 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3SN-3 300 Mean: 3HW-1 100 60 3
v 876 6CE6 1370 -990  3NwW4 630 80 1 v KQ 2HW2 110 -140  3HE-1 100 60 1
¢ T63 Dif: -750 NS:-9 3NE4 630 80 3 ¢ KT4 Dif: 190 NS:1  2HW2 410 1.0 1
& QJ7 IMP: -13 EW:-9 6DW6 1370 9.0 1 » T654 IMP: 5 EW:4 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEN L, T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ oJ4 S 13 ~1~ o Q6532
E 66 ~~4 85 E ~~2~~ aKQ7
W 66~~4 W ~~2~1




4= E5F 2RBERE B 2

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

6 NS: #9881 BB (BHO) 12 11 NS: FFHIEZ FEEZES)(BAg VP:| 7.82 12.18| Total VP: 54.30 Rank:
EW: &% % BFREEAC) -16 EW: RHET SHET(F( IMP:| 16 22 2
N I
#1 aT76 3HN5 200 Mean: 4HN5 450 80 4 |[|#2 & AK76 3NN3 600 Mean: 3NS4 630 10.0 1
v AJ9642 4HN5 450 130  4HN4 420 70 1 v J863 3NS-2-200 190  3NS3 600 9.0 3
Q72 Dif: -250 NS:2 3HN5 200 20 1 T Dif: 800 NS:9 3NN3 600 9.0 2
a8 IMP: -6 EW:-8 2HN5 200 20 1 » A843 IMP: 13 EW:9 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1||eJ5 ¢ Q7643 2NN-1 100 7.0 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 4150 70 1 ||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 -550 -12.0 1 S 3 ~3~2 o+ AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W ~~~~~
#3 » 95 3NS-1-50 Mean: 2HW-2 200 50 1|[|#4 » 965 4CE-1100 Mean: 4HXS4 790 120 1
v AK75 3DS3110 20  3DS3 110 30 2 v J8653 4HXS4790 150  5DE-2 200 20 1
o KT42 Dif: -160 NS:-2 3CS3 110 30 1 * QT42 Dif: -690 NS:-2 5CW-2 200 20 1
» T62 IMP: -4 EW:-3 2DS3 110 30 1 a K IMP: -12 EW:-12 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100 3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 3NW4 -430 Mean: 3NW-2 100 100 2 ||#6 » 98742 3HS-2 -100 Mean: 5DE-2 200 6.0 4
v 8765 3NW5 -460 -350 5DW5 400 20 2 v A92 3DE5 -150 -60  5DE-1 100 40 2
* Q74 Dif: 30 NS:-2 3NW4 430 20 4 + Q98 Dif: 50 NS:-1  3HXS-1 -100 -1.0 1
» QJ8 IMP: 1 EW:3 3NW3 400 20 1 » 62 IMP: 2 EW:3 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 & K4 & AQ953
P¢VEN L, KJI763 PIVEN L, KIT
N ~~~~~¢T2 N ~~11~ v KJ853
S ~~~~~ 485 S ~~11~ oK
E 566~5 &953 E 34~~2 aJT87
W566~5 W 34~~3
#7 » JT87 1SW1 -80 Mean: 3NN3 600 110 1 [|# 8 & A732 3NS3 400 Mean: 4NS4 430 40 1
v K72 1SW1-80 80  2CXE-1 200 3.0 1 v 3NS3400 270 3NS4 430 40 2
+ KJ95 Dif: 0 NS:-4 2NN2 120 1.0 1 + AKQ7652 Dif: 0 NS:4 3NS3 400 40 5
a AJ IMP: 0 EW:4 1SW-1 100 1.0 2 » 85 IMP: 0 EW:-4 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 * 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||s A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®PIVEON LKIT6
N ~11~2 ¢J964 N ~3~2~ ¢ KQJ43
S ~21~2 +QT4 S ~3~2~ 498
E 2~~~~ aK765 E1~~~~ aJ73
W2~~~-~ W1l~2~-~
#9 » AQ86 3NE4 -630 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3HW3 -140 Mean: 3HW-1 100 60 3
v 876 3NE4 -630 -990 3NW4 630 80 1 v KQ 3HW3 -140 -140  3HE-1 100 60 1
¢ T63 Dif: 0 NS:8 3NE4 630 80 3 ¢ KT4 Dif: 0 NS:0 2HW2 410 1.0 1
& QJ7 IMP: 0 EW:-8 6DW6 1370 9.0 1 » T654 IMP: 0 EW:0 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEeN ,T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ o4 S 13~1~ ¢ Q6532
E 66~~4 485 E ~~2~~ aKQ7
W 66~~4 W~~2~1




4= E5F 2RBERE B 2

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

7 NS: B£7E BEZEIC) 30 2 NS: SOME X REEFEO) VP:| 18.00 : 2.00 Total VP: 44.00 Rank:
EW: 3% Fhgdl(BE0) 6 EW: 5 MigR(FC) -3 IMP:| 34 : 3 7
N I
#1 aT76 2HS-1 50 Mean: 4HN5 450 80 4 |[|#2 & AK76 3NS3 -600 Mean: 3NS4 630 10.0 1
v AJ9642 4HN5 -450 130  4HN4 420 70 1 v J863 3NS4 -630 190  3NS3 600 9.0 3
Q72 Dif: 500 NS:8 3HN5 200 20 1 T Dif: 30 NS:10 3NN3 600 9.0 2
a8 IMP: 11 EW:5 2HN5 200 20 1 » A843 IMP: 1 EW:-9 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1||eJ5 ¢ Q7643 2NN-1 100 70 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 4150 70 1 ||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 -550 -12.0 1 S 3 ~3~2 o+ AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W ~~~~~
#3 » 95 2DN2 -90 Mean: 2HW-2 200 50 1|[|#4 # 965 4CW-1-100 Mean: 4HXS4 790 120 1
v AK75 3DS3-110 20  3DS3 110 30 2 v J8653 4DE-2 -200 150  5DE-2 200 20 1
o KT42 Dif: 20 NsS:3 3CS3 110 30 1 * QT42 Dif: 100 NS:2 5CW-2 200 20 1
» T62 IMP: 1 EW:-2 2DS3 110 30 1 a K IMP: 3 EW:2 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100 3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 3NW3 400 Mean: 3NW-2 100 100 2 ||#6 » 98742 3DE4 130 Mean: 5DE-2 200 6.0 4
v 8765 4HW5 450 -350 5DWS5 400 20 2 v A92 5DE-2 -200 -60  5DE-1 100 40 2
* Q74 Dif: -50 NS:-3 3NwW4 430 20 4 + Q98 Dif: 330 NS:6 3HXS-1 -100 -1.0 1
» QJ8 IMP: -2 EW:2 3NW3 400 20 1 » 62 IMP: 8 EW:2 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 & K4 & AQ953
P¢VEN L, KJI763 PIVEN L, KIT
N ~~~~~ T2 N ~~11~ v KJ853
S ~~~~~ 485 S ~~11~ +K
E 566 ~5 &953 E 34~~2 aJT87
W 566~5 W 34~~3
#7 # JT87 1SW-1 -100 Mean: 3NN3 600 110 1 ||#38 & A732 3NS4 -430 Mean: 4NS4 430 40 1
v K72 2CXE-1-200 80  2CXE-1 200 3.0 1 @ 3NN3 -400 270  3NS4 430 40 2
+ KJ95 Dif: 100 NS:3 2NN2 120 1.0 1 + AKQ7652 Dif: -30 NS:4 3NS3 400 40 5
& AJ IMP: 3 EW:-1  1SW-1 100 1.0 2 » 85 IMP: -1 EW:-4 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 * 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||s A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®IVEON L KI6
N ~11~2 ¢J964 N ~3~2~ ¢ KQJ43
S ~21~2 +QT4 S ~3~2~ 498
E 2~~~~ aK765 E1~~~~ aJ73
W2~~~-~ W1l~2~-~
#9 » AQ86 6DW6 1370 Mean: 5CE6 620 9.0 3 ||#10 » AK76 2NN-2 200 Mean: 3HW-1 100 60 3
v 876 6CE6 1370 -990  3NW4 630 80 1 v KQ 3HE-1-100 -140  3HE-1 100 60 1
¢ T63 Dif: 0 NS:-9 3NE4 630 80 3 ¢ KT4 Dif: 300 NS:6 2HW2 410 1.0 1
& QJ7 IMP: 0 EW:9 6DW6 1370 9.0 1 » T654 IMP: 7 EW:2 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEeN ,T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ 4J4 S 13~1~ ¢ Q6532
E 66~~4 485 E ~~2~~ aKQ7
W 66~~4 W~~2~1




4= E5F 2RBERE B 2

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

8 NS: B2 F H&EEAC) 17 3 NS: &5 REW(BIO) -7 VP:[ 1597 : 4.03 | Total VP: 46.81 Rank:
EW: P52 &h(BE0) 7 EW: 81818 EBR(FAC) 1 IMP:{ 40 : 20 5
N I
#1 aT76 4HN4 -420 Mean: 4HN5 450 80 4 |[|#2 & AK76 3NS-2200 Mean: 3NS4 630 10.0 1
v AJ9642 4HN5 -450 130  4HN4 420 70 1 v J863 3NN3 -600 190  3NS3 600 9.0 3
Q72 Dif: 30 NS:8 3HN5 200 20 1 T Dif: 800 NS:9 3NN3 600 9.0 2
a8 IMP: 1 EW:-7 2HN5 200 20 1 » A843 IMP: 13 EW:9 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1||eJ5 ¢ Q7643 2NN-1 100 7.0 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 4150 70 1 ||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 -550 -12.0 1 S 3 ~3~2 o+ AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W ~~~~~
#3 » 95 3NN-2 100 Mean: 2HW-2 200 50 1|[|#4 » 965 4HXS-1 200 Mean: 4HXS4 790 120 1
v AK75 3CS3-110 20  3DS3 110 30 2 v J8653 4CW-1-100 150  5DE-2 200 20 1
o KT42 Dif: 210 NS:3 3CS3 110 30 1 * QT42 Dif: 300 NS:-2 5CW-2 200 20 1
» T62 IMP: 5 EW:3 2DS3 110 30 1 a K IMP: 7 EW:8 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100  -3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 3NW4 430 Mean: 3NW-2 100 100 2 ||#6 » 98742 5DE-2 -200 Mean: 5DE-2 200 6.0 4
v 8765 5DW5 400 -350 5DW5 400 20 2 v A92 3HS-2100 -60  5DE-1 100 40 2
* Q74 Dif: 30 NS:-2 3NW4 430 20 4 + Q98 Dif: -300 NS:-1  3HXS-1 -100 -1.0 1
» QJ8 IMP: 1 EW:2 3NW3 400 20 1 » 62 IMP: -7 EW:-6 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 & K4 & AQ953
P¢VEN L, KJI763 PIVEN L, KIT
N ~~~~~ T2 N ~~11~ v KJ853
S ~~~~~ 485 S ~~11~ oK
E 566~5 &953 E 34~~2 aJT87
W566~5 W 34~~3
#7 # JT87 1NN2 -120 Mean: 3NN3 600 110 1 ||#38 & A732 3NS3 -400 Mean: 4NS4 430 40 1
v K72 2NN2 -120 80  2CXE-1 200 3.0 1 v 3NS4 -430 270 3NS4 430 4.0 2
» KJ95 Dif: 0 NS:1 2NN2 120 10 1 + AKQ7652 Dif: 30 NS:4 3NS3 400 40 5
a AJ IMP: 0 EW:-1  1SW-1 100 1.0 2 » 85 IMP: 1 EW:-4 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 * 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||& A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®IVEON L KI6
N ~11~2 ¢J964 N ~3~2~ ¢ KQJ43
S ~21~2 +QT4 S ~3~2~ 498
E 2~~~~ aK765 E1~~~~ aJ73
W2~~~-~ W1l~2~-~
#9 » AQ86 6CE6 1370 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3HW-1-100 Mean: 3HW-1 100 60 3
v 876 3NW4 630 -990 3Nw4 630 80 1 v KQ 3HXW3 730 -140  3HE-1 100 60 1
¢ T63 Dif: 740 NS:8 3NE4 630 80 3 ¢ KT4 Dif: -830 NS:-11 2HW2 410 1.0 1
& QJ7 IMP: 12 EW:9 6DW6 1370 9.0 1 » T654 IMP: -13 EW:-6 3HWS3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEN L, T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ 4J4 S 13~1~ ¢ Q6532
E 66~~4 485 E ~~2~~ aKQ7
W 66~~4 W~~2~1




X AN 33z 4 R
4 1142 E< 3 2RABEHRE L = M 4
L v L
Vo axq V-
#1: 13 715(66.68) #2: 6 EH#7(54.3) #3: 1 ZFEEK(50.89)
9 NS: BRI FRIrEIERC) 26 4 NS: {1% Z5%{&(F0) 6 VP:| 15.05 : 4.95 | Total VP: 28.83 Rank:
EW: iERI& = 5$(EI0) -6 EW: SR THIE EEM(EAC) -2 IMP:| 41 : 25 12
N I
#1 aT76 4HN-3 150 Mean: 4HN5 450 80 4 |[|#2 & AK76 3NS-1100 Mean: 3NS4 630 10.0 1
v AJ9642 4HN5 -450 130  4HN4 420 70 1 v J863 3NS-2200 190  3NS3 600 9.0 3
Q72 Dif: 600 NS:8 3HN5 200 20 1 T Dif: -100 NS:-9 3NN3 600 9.0 2
a8 IMP: 12 EW:7 2HN5 200 20 1 » A843 IMP: -3 EW:7 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1||eJ5 ¢ Q7643 2NN-1 100 70 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 4150 70 1 ||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 -550 -12.0 1 S 3 ~3~2 o+ AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W ~~~~~
#3 » 95 3CS-2100 Mean: 2HW-2 200 50 1|[|#4 » 965 3SE-1-100 Mean: 4HXS4 790 120 1
v AK75 1NS2-120 20  3DS3 110 30 2 v J8653 4DE-2 -200 150  5DE-2 200 20 1
o KT42 Dif: 220 NS:3 3CS3 110 30 1 * QT42 Dif: 100 NS:2 5CW-2 200 20 1
» T62 IMP: 6 EW:3 2DS3 110 30 1 a K IMP: 3 EW:2 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100  -3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 3NW5 460 Mean: 3NW-2 100 100 2 ||#6 » 98742 5DE-1-100 Mean: 5DE-2 200 6.0 4
v 8765 3NW-2 -100 -350 5DW5 400 20 2 v A92 5DE-2 -200 -60  5DE-1 100 40 2
* Q74 Dif: 560 NS:10 3NwW4 430 20 4 + Q98 Dif: 100 NS:6 3HXS-1 -100 -1.0 1
» QJ8 IMP: 11 EW:3 3NW3 400 20 1 » 62 IMP: 3 EW:-4 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 & K4 & AQ953
P¢VEN L, KJI763 PIVEN L, KIT
N ~~~~~ T2 N ~~11~ v KJ853
S ~~~~~ 485 S ~~11~ oK
E 566~5 &953 E 34~~2 aJT87
W566~5 W 34~~3
#7 » JT87 3NN3 -600 Mean: 3NN3 600 110 1 [|# 8 & A732 3NS3 -400 Mean: 4NS4 430 40 1
v K72 1NN1-90 80  2CXE-1 200 3.0 1 v 4SN-2100 270 3NS4 430 40 2
+ KJ95 Dif: -510 NS:0 2NN2 120 1.0 1 + AKQ7652 Dif: -500 NS:-9 3NS3 400 40 5
a AJ IMP: -11 EW:-11 1SW-1 100 1.0 2 » 85 IMP: -11 EW:-4 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 * 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||& A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®IVEON L KI6
N ~11~2 ¢J964 N ~3~2~ ¢ KQJ43
S ~21~2 +QT4 S ~3~2~ 498
E 2~~~~ aK765 E1~~~~ aJ73
W2~~~-~ W1l~2~-~
#9 » AQ86 5CE6 620 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3HW3 140 Mean: 3HW-1 100 60 3
v 876 5CE6 620 -990  3NW4 630 80 1 v KQ 3HW-1-100 -140  3HE-1 100 60 1
¢ T63 Dif: 0 NS:9 3NE4 630 80 3 ¢ KT4 Dif: 240 NS:6 2HW2 410 1.0 1
& QJ7 IMP: 0 EW:-9 6DW6 1370 9.0 1 » T654 IMP: 6 EW:0 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEN L, T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ 4J4 S 13~1~ ¢ Q6532
E 66~~4 485 E ~~2~~ aKQ7
W 66~~4 W~~2~1




4= E5F 2RBERE B 2

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

1 O NS: ZRZE 5 GHO) -45 14 NS: 5% BREZE(BAC) -4 VP:| 2.32 17.68| Total VP: 22.11 Rank:
EW: FaBiE RERAEAC) 4 EW: 3R{Z8B ERHE£(FI0) 45 IMP:| 26 : 55 13
N I
#1 aT76 3HS3 140 Mean: 4HN5 450 80 4 |[|#2 & AK76 5CS-1-100 Mean: 3NS4 630 10.0 1
v AJ9642 5CXW5 -550 130  4HN4 420 70 1 v J863 3NS3600 190  3NS3 600 9.0 3
Q72 Dif: 690 NS:0 3HN5 200 20 1 T Dif: -700 NS:-7 3NN3 600 9.0 2
a8 IMP: 12 EW:12 2HN5 200 20 1 » A843 IMP: -12 EW:-9 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1||eJ5 ¢ Q7643 2NN-1 100 7.0 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 450 70 1||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 550 120 1 [|S 3 ~ 3 ~ 2 o AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W~~~~~
#3 a 95 3NS-2 -100 Mean: 2HW-2 200 50 1 ||#4 # 965 4HXS-1 -200 Mean: 4HXS4 790 120 1
v AK75 2SE2-110 20  3DS3 110 30 2 v J8653 5CW-2200 150  5DE-2 200 20 1
o KT42 Dif: 10 NS:-3 3CS3 110 30 1 * QT42 Dif: -400 NS:-8 5CW-2 200 20 1
» T62 IMP: 0 EW:4 2DS3 110 30 1 a K IMP: -9 EW:-2 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100 3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 5DWS5 -400 Mean: 3NW-2 100 100 2 ||#6 » 98742 3NW3 -600 Mean: 5DE-2 200 6.0 4
v 8765 3NW5 -460 -350 5DW5 400 20 2 v A92 5DE-1100 -60  5DE-1 100 40 2
* Q74 Dif: 60 NS:-2 3NW4 430 20 4 + Q98 Dif: -700 NS:-11 3HXS-1 -100 -1.0 1
» QJ8 IMP: 2 EW:3 3NW3 400 20 1 » 62 IMP: -12 EW:-4 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 & K4 & AQ953
P¢VEN L, KJI763 PIVEN L, KIT
N ~~~~~ T2 N ~~11~ v KJ853
S ~~~~~ 485 S ~~11~ oK
E 566~5 &953 E 34~~2 aJT87
W566~5 W 34~~3
#7 # JT87 2DN-1 -100 Mean: 3NN3 600 110 1 ||#38 & A732 4NS4 430 Mean: 4NS4 430 40 1
v K72 1SW1-80 80  2CXE-1 200 3.0 1 v 4SS-4 -200 270  3NS4 430 4.0 2
+ KJ95 Dif: -20 NS:-5 2NN2 120 1.0 1 + AKQ7652 Dif: 630 NS:4 3NS3 400 40 5
a AJ IMP: -1 EW:4 1SW-1 100 1.0 2 » 85 IMP: 12 EW:10 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 * 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||& A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®IVEON L KI6
N ~11~2 ¢J94 N ~3~2~ ¢ KQJ43
S ~21~2 4QT4 S ~3~2~ 498
E 2~~~ ~ aK765 E 1~~~~ aJ73
W2~~-~~ Wi1~2~-~
#9 » AQ86 6CE6 -1370 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3NN-3 -300 Mean: 3HW-1 100 60 3
v 876 3NE4 -630 -990  3NW4 630 80 1 v KQ 3HW-1100 -140  3HE-1 100 60 1
¢ T63 Dif: -740 NS:-9 3NE4 630 80 3 ¢ KT4 Dif: -400 NS:-4 2HW2 410 1.0 1
& QJ7 IMP: -12 EW:-8 6DW6 1370 9.0 1 » T654 IMP: -9 EW:-6 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEN L, T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ oJ4 S 13 ~1~ o Q6532
E 66 ~~4 85 E ~~2~~ aKQ7
W 66~~4 W ~~2~1




4= E5F 2RBERE B 2

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

1 1 NS: SEHEE FEEEEE C) 6 NS: #4821 EE=T(50) 12 VP:| 12.18 : 7.82 | Total VP: 36.65 Rank:
EW: RIHET SHETEI0) EW: 82X #FI(FAC) 1 IMP:| 22 16 9
N I
#1 aT76 3HN5 -200 Mean: 4HN5 450 80 4 |[|#2 & AK76 3NN3 -600 Mean: 3NS4 630 10.0 1
v AJ9642 4HN5 -450 130  4HN4 420 70 1 v J863 3NS-2200 190  3NS3 600 9.0 3
Q72 Dif: 250 NS:8 3HN5 200 20 1 T Dif: -800 NS:-9 3NN3 600 9.0 2
a8 IMP: 6 EW:-2 2HN5 200 20 1 » A843 IMP: -13 EW:-9 2NS2 120 20 1
#» K82 » AQ3 2HN4 170 1.0 1 || QJ54 # 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1 ||eJ5 ¢ Q7643 2NN-1 100 70 1
& A5432 » KQ976 3HS-2 100 60 1 ||a& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 4150 70 1 ||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 -550 -12.0 1 S 3 ~3~2 o+ AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W ~~~~~
#3 » 95 3NS-150 Mean: 2HW-2 200 50 1|[|#4 » 965 4CE-1-100 Mean: 4HXS4 790 120 1
v AK75 3DS3-110 20  3DS3 110 30 2 v J8653 4HXS4 -790 150  5DE-2 200 20 1
o KT42 Dif: 160 NS:3 3CS3 110 30 1 * QT42 Dif: 690 NS:12 5CW-2 200 20 1
» T62 IMP: 4 EW:2 2DS3 110 30 1 a K IMP: 12 EW:2 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||a 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT _I_ v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 ¢ AKJ93 4CW-1 100 20 2
& A & QJ95 3NS-2 100 3.0 1 ||a& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 3NW4 430 Mean: 3NW-2 100 100 2 ||#6 » 98742 3HS-2100 Mean: 5DE-2 200 6.0 4
v 8765 3NW5 460 -350 5DW5 400 20 2 v A92 3DE5150 -60  5DE-1 100 40 2
* Q74 Dif: -30 NS:-3 3NwW4 430 20 4 + Q98 Dif: -50 NS:-3 3HXS-1 -100 -1.0 1
» QJ8 IMP: -1 EW:2 3NW3 400 20 1 » 62 IMP: -2 EW:1 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_ v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 * K4 &« AQ953
® 99V SN L, KJII763 *¢VON L KIT
N ~~~~~ oT2 N ~~11~ « KJ853
S ~~~~~ 485 S ~~11~ oK
E 566 ~5 &953 E 34~~2 aJT87
W 566~5 W 34~~3
#7 » JT87 1SW1 80 Mean: 3NN3 600 110 1 ||#38 & A732 3NS3 -400 Mean: 4NS4 430 40 1
v K72 1SW180 80  2CXE-1 200 3.0 1 v 3NS3-400 270 3NS4 430 40 2
+ KJ95 Dif: 0 NS:-4 2NN2 120 1.0 1 + AKQ7652 Dif: 0 NS:4 3NS3 400 40 5
& AJ IMP: 0 EW:4 1SW-1 100 1.0 2 » 85 IMP: 0 EW:-4 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 ¢ 62 1SW1 80 -40 4 ||e 4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||& A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®IVEON L KI6
N ~11~2 ¢J94 N ~3~2~ ¢ KQJ43
S ~21~2 4QT4 S ~3~2~ 498
E 2~~~ ~ aK765 E 1~~~~ aJ73
W2~~-~~ Wi1~2~-~
#9 » AQ86 3NE4 630 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3HW3 140 Mean: 3HW-1 100 60 3
v 876 3NE4 630 -990 3NW4 630 80 1 v KQ 3HW3 140 -140  3HE-1 100 60 1
¢ T63 Dif: 0 NS:8 3NE4 630 80 3 ¢ KT4 Dif: 0 NS:0 2HW2 410 1.0 1
& QJ7 IMP: 0 EW:-8 6DW6 1370 9.0 1 » T654 IMP: 0 EW:0 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEN L T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ 4J4 S 13~1~ ¢ Q6532
E 66~~4 485 E ~~2~~ aKQ7
W 66~~4 W~~2~1




114 E5F 2 RHERF HL

Wo—

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

1 2 NS: REF FHEEREGH0) -22 1 3 NS: ZR{%{E BRERTE(BAC) 0 VP:| 5.20 14.80| Total VP: 39.59 Rank:
EW: &5 SI2E(EAC) 0 EW: 215158 Bt 4(FAO) 22 IMP:| 21 : 36 8
N I
#1 aT76 2HN5 200 Mean: 4HN5 450 80 4 |[|#2 & AK76 3NS-1-100 Mean: 3NS4 630 10.0 1
v AJ9642 4HS-3 -150 130  4HN4 420 70 1 v J863 3NS3600 190  3NS3 600 9.0 3
Q72 Dif: 350 NS:2 3HN5 200 20 1 T Dif: -700 NS:-7 3NN3 600 9.0 2
a8 IMP: 8 EW:7 2HN5 200 20 1 » A843 IMP: -12 EW:-9 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1||eJ5 ¢ Q7643 2NN-1 100 7.0 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 4150 70 1 ||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 -550 -12.0 1 S 3 ~3~2 o+ AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W ~~~~~
#3 » 95 2DS3 110 Mean: 2HW-2 200 50 1|[|#4 » 965 4SE-2 200 Mean: 4HXS4 790 120 1
v AK75 1NS2120 20  3DS3 110 30 2 v J8653 3HS3140 150  5DE-2 200 20 1
o KT42 Dif: -10 NS:3 3CS3 110 30 1 * QT42 Dif: 60 NS:2 5CW-2 200 20 1
» T62 IMP: 0 EW:-3 2DS3 110 30 1 a K IMP: 2 EW:0 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100 3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 3NW4 -430 Mean: 3NW-2 100 100 2 ||#6 » 98742 3HXS-1-100 Mean: 5DE-2 200 6.0 4
v 8765 3NW-2 100 -350 5DW5 400 20 2 v A92 3NW3 -600 -60  5DE-1 100 40 2
* Q74 Dif: -530 NS:-2 3NW4 430 20 4 + Q98 Dif: 500 NS:-1  3HXS-1 -100 -1.0 1
» QJ8 IMP: -11 EW:-10 3NW3 400 20 1 » 62 IMP: 11 EW:11  3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 * K4 &« AQ953
® 99V SN L, KJII763 *¢VON L KIT
N ~~~~~ ¢T2 N ~~11~ o KJss3
S ~~~~~ 485 S ~~11~ oK
E 566 ~5 &953 E 34~~2 aJT87
W 566~5 W 34~~3
#7 # JT87 1NN2 120 Mean: 3NN3 600 110 1 ||#38 & A732 1SN-2 -100 Mean: 4NS4 430 40 1
v K72 1NN2120 80  2CXE-1 200 3.0 1 v 3NN3 400 270 3NS4 430 40 2
» KJ95 Dif: 0 NS:1 2NN2 120 10 1 + AKQ7652 Dif: -500 NS:-9 3NS3 400 40 5
a AJ IMP: 0 EW:-1  1SW-1 100 1.0 2 » 85 IMP: -11 EW:-4 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 ¢ 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||& A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®IVEON L KI6
N ~11~2 ¢J94 N ~3~2~ ¢ KQJ43
S ~21~2 4QT4 S ~3~2~ 498
E 2~~~ ~ aK765 E 1~~~~ aJ73
W2~~-~~ Wi1~2~-~
#9 » AQ86 6CE6 -1370 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3DS-2 -200 Mean: 3HW-1 100 60 3
v 876 6CE6 -1370 -990  3NW4 630 80 1 v KQ 3HW3 -140 -140  3HE-1 100 60 1
¢ T63 Dif: 0 NS:-9 3NE4 630 80 3 ¢ KT4 Dif: -60 NS:-2 2HW2 410 1.0 1
& QJ7 IMP: 0 EW:9 6DW6 1370 9.0 1 » T654 IMP: -2 EW:0 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEN L, T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ o4 S 13~1~ ¢ Q6532
E 66~~4 485 E ~~2~~ aKQ7
W 66~~4 W~~2~1




4= E5F 2RBERE B 2

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

1 3 NS: FiEEEE BRERTEAC) 0 12 NS: RE% BAER(FO) -21 VP:| 14.80 : 5.20 Total VP: 66.68 Rank:
EW: Sfas BEHLEEHO) 22 EW: 5550 21288 (BAC) 0 IMP:| 36 : 21 1
N I
#1 aT76 2HN5 -200 Mean: 4HN5 450 80 4 |[|#2 & AK76 3NS-1100 Mean: 3NS4 630 10.0 1
v AJ9642 4HS-3150 130  4HN4 420 70 1 v J863 3NS3 -600 190  3NS3 600 9.0 3
Q72 Dif: -350 NS:-7 3HN5 200 20 1 T Dif: 700 NS:9 3NN3 600 9.0 2
a8 IMP: -8 EW:-2 2HN5 200 20 1 » A843 IMP: 12 EW:7 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1||eJ5 ¢ Q7643 2NN-1 100 7.0 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 4150 70 1 ||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 -550 -12.0 1 S 3 ~3~2 o+ AK982
E 5~~~~ aJT E ~~~~~ &KQ9
W 5~~~~ W ~~~~~
#3 » 95 2DS3 -110 Mean: 2HW-2 200 50 1|[|#4 » 965 4SE-2 -200 Mean: 4HXS4 790 120 1
v AK75 1NS2-120 20  3DS3 110 30 2 v J8653 3HS3 -140 150  5DE-2 200 20 1
o KT42 Dif: 10 NS:3 3CS3 110 30 1 * QT42 Dif: -60 NS:0 5CW-2 200 20 1
» T62 IMP: 0 EW:-3 2DS3 110 30 1 a K IMP: -2 EW:-2 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 + AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100 3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 3NW4 430 Mean: 3NW-2 100 100 2 ||#6 » 98742 3HXS-1100 Mean: 5DE-2 200 6.0 4
v 8765 3NW-2 -100 -350 5DW5 400 20 2 v A92 3NW3 600 -60 5DE-1 100 40 2
* Q74 Dif: 530 NS:10 3NW4 430 20 4 + Q98 Dif: -500 NS:-11 3HXS-1 -100 -1.0 1
» QJ8 IMP: 11 EW:2 3NW3 400 20 1 » 62 IMP: -11 EW:1  3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 * K4 &« AQ953
® 99V SN L, KJII763 *¢VON L KIT
N ~~~~~ ¢T2 N ~~11~ o KJss3
S ~~~~~ 485 S ~~11~ oK
E 566 ~5 &953 E 34~~2 aJT87
W 566~5 W 34~~3
#7 # JT87 1NN2 -120 Mean: 3NN3 600 110 1 ||#38 & A732 1SN-2 100 Mean: 4NS4 430 40 1
v K72 1NN2 -120 80  2CXE-1 200 3.0 1 v 3NN3 -400 270 3NS4 430 40 2
» KJ95 Dif: 0 NS:1 2NN2 120 10 1 + AKQ7652 Dif: 500 NS:4 3NS3 400 40 5
a AJ IMP: 0 EW:-1  1SW-1 100 1.0 2 » 85 IMP: 11 EW:9 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 ¢ 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||& A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®PIVEON LKIT6
N ~11~2 ¢J94 N ~3~2~ ¢ KQJ43
S ~21~2 4QT4 S ~3~2~ 498
E 2~~~ ~ aK765 E 1~~~~ aJ73
W2~~-~~ Wi1~2~-~
#9 » AQ86 6CE6 1370 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3DS-2200 Mean: 3HW-1 100 60 3
v 876 6CE6 1370 -990  3NW4 630 80 1 v KQ 3HW3 140 -140 3HE-1 100 60 1
¢ T63 Dif: 0 NS:-9 3NE4 630 80 3 ¢ KT4 Dif: 60 NS:0 2HW2 410 1.0 1
& QJ7 IMP: 0 EW:9 6DW6 1370 9.0 1 » T654 IMP: 2 EW:2 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEN L, T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ o4 S 13~1~ ¢ Q6532
E 66~~4 485 E ~~2~~ aKQ7
W 66~~4 W~~2~1




4= E5F 2RBERE B 2

==> R4

#1: 13 Z2{B(66.68) #2: 6 EM7(54.3) #3: 1 ZEFK(50.89)

1 4 NS: BkHE BREEBI(EAC) -4 10 NS: FER #51H(B0) -4 VP:| 17.68 : 2.32 | Total VP: 47.00 Rank:
EW: 5R{EHH BRMt2 (BFHO) 45 EW: BB sRE#(BAC) 4 IMP:| 55 : 26 4
N I
#1 aT76 3HS3 -140 Mean: 4HN5 450 80 4 |[|#2 & AK76 5CS-1100 Mean: 3NS4 630 10.0 1
v AJ9642 5CXW5 550 130  4HN4 420 70 1 v J863 3NS3 -600 190  3NS3 600 9.0 3
Q72 Dif: -690 NS:-12 3HN5 200 20 1 T Dif: 700 NS:9 3NN3 600 9.0 2
a8 IMP: -12 EW:0 2HN5 200 20 1 » A843 IMP: 12 EW:7 2NS2 120 20 1
» K82 » AQ3 2HN4 170 1.0 1 || QJ54 » 983 5CS-1 4100 70 1
v3 v T875 3HS3 140 00 1 ||e K97 | v AQ2 3NS-1 100 70 2
+ T865 *3 2HS-1 50 50 1 ||eJ5 ¢ Q7643 2NN-1 100 70 1
& A5432 » KQ976 3HS-2 100 6.0 1 ||& JT52 & 76 3NS-2 200 90 3
PIVEON ,J954 4HS-3 150 7.0 1 PIVEN L, T2
N ~221~ vKQ 4HN-3 4150 70 1 ||N 3 ~3~2 ¢ T54
S ~221~ ¢AKJYM 5CXW5 -550 -12.0 1 S 3 ~3~2 o+ AK982
E 5~~~~ aJT E ~~~~~ aKQ9
W 5~~~~ W ~~~~~
#3 » 95 3NS-2100 Mean: 2HW-2 200 50 1|[|#4 # 965 4HXS-1200 Mean: 4HXS4 790 120 1
v AK75 2SE2110 20  3DS3 110 30 2 v J8653 5CW-2 -200 150  5DE-2 200 20 1
o KT42 Dif: -10 NS:-4 3CS3 110 30 1 * QT42 Dif: 400 NS:2 5CW-2 200 20 1
» T62 IMP: 0 EW:3 2DS3 110 30 1 a K IMP: 9 EW:8 4SE-2 200 20 1
s QT2 # K8643 1NS2 120 3.0 2 ||as 872 » KQJ3 4DE-2 200 20 3
v T8642 v Q93 2DN2 90 20 1 ||vQT + v9 3HS3 140 00 1
+ Q765 *3 3NS-1 50 20 1 ||e 875 ¢ AKJ93 4CW-1 100 20 2
a A & QJ95 3NS-2 -100 3.0 1 ||& T9642 & AQ7 4CE-1 100 20 1
PIVEN ,AJT 3NN-2 100 3.0 1 PIVEN ,AT4 3SE-1 100 -20 1
N 33~~2 oJ 3CS-2 100 30 1 ||N ~~ 3 ~~ ¢ AK742 4HXS-1 200 -80 2
S 33 ~~2 ¢AJ98 2SE3 140 40 1||S ~~3~~ 46
E ~~~ 2~ aK8743 2SE2 110 4.0 1 E 33~11 &J853
W ~~~2~ w33~11
#5 » A42 5DW5 400 Mean: 3NW-2 100 100 2 ||#6 » 98742 3NW3 600 Mean: 5DE-2 200 6.0 4
v 8765 3NW5 460 -350 5DW5 400 20 2 v A92 5DE-1-100 -60  5DE-1 100 40 2
* Q74 Dif: -60 NS:-3 3NwW4 430 20 4 + Q98 Dif: 700 NS:4 3HXS-1 -100 -1.0 1
» QJ8 IMP: -2 EW:2 3NW3 400 20 1 » 62 IMP: 12 EW:11 3HS-2 100 1.0 2
4 QT5 a8 4HW5 450 -3.0 1 ||s Q63 s A5 3DE4 130 20 2
v AQJ3 v K94 3NW5 460 -3.0 4 ||v QT74 —_— v6 3DE5 150 3.0 1
¢ KJT93 + A62 ¢ T632 ¢ AJ754 3NW3 -600 -11.0 2
T & AK7642 & K4 & AQ953
P¢VEN L, KJI763 PIVEN L, KIT
N ~~~~~ T2 N ~~11~ ¢ KJ853
S ~~~~~ 485 S ~~11~ +K
E 566 ~5 &953 E 34~~2 aJT87
W 566~5 W 34~~3
#7 # JT87 2DN-1 100 Mean: 3NN3 600 110 1 ||#38 & A732 4NS4 -430 Mean: 4NS4 430 40 1
v K72 1SW180 80  2CXE-1 200 3.0 1 @ 4SS-4200 270 3NS4 430 40 2
+ KJ95 Dif: 20 NS:-4 2NN2 120 1.0 1 + AKQ7652 Dif: -630 NS:-10 3NS3 400 40 5
& AJ IMP: 1 EW:5 1SW-1 100 1.0 2 » 85 IMP: -12 EW:-4 3NN3 400 40 2
4 AQ543 # 62 1NN2 120 1.0 3 ||a J9854 s Q 3DN5 150 3.0 1
v AT3 + v Q85 1NN1 90 00 1 ||v A8762 v T95 4SN-2 100 9.0 1
+ A873 * 62 1SW1 80 40 4 ||e4 ¢ JT3 1SN-2 100 9.0 1
a9 S & QT8432 2DN-1 100 50 1 ||& A4 & KQT962 4SS-4 200 -100 1
®IveN LK9 ®IVEON L KI6
N ~11~2 ¢J94 N ~3~2~ ¢ KQJ43
S ~21~2 4QT4 S ~3~2~ 498
E 2~~~ ~ aK765 E1~~~~ alJ73
W2~~-~~ Wi1~2~-~
#9 » AQ86 6CE6 1370 Mean: 5CE6 620 9.0 3 ||#10 » AK76 3NN-3 300 Mean: 3HW-1 100 60 3
v 876 3NE4 630 -990 3NW4 630 80 1 v KQ 3HW-1-100 -140  3HE-1 100 60 1
¢ T63 Dif: 740 NS:8 3NE4 630 80 3 ¢ KT4 Dif: 400 NS:6 2HW2 410 1.0 1
& QJ7 IMP: 12 EW:9 6DW6 1370 9.0 1 » T654 IMP: 9 EW:4 3HW3 140 0.0 4
Y » JT93 6CE6 1370 90 6 83 » QJ92 3DS-2 200 -20 1
v KJT v AQ2 v AJT642 + v 987 2NN-2 -200 -20 1
+ AQ975 + K82 ¢ A98 ¢ J7 3SN-3 -300 -40 1
& KT942 & A63 & J9 & A832 3NN-3 -300 -40 1
®IVEON LK7542 PIVEN L, T54 3HXW3 730 110 1
N ~~~~~ 99543 N 13~1~ ¢53
S ~~~~~ 4J4 S 13~1~ ¢ Q6532
E 66~~4 485 E ~~2~~ aKQ7
W 66~~4 W~~2~1




